DELHI PUBLIC SCHOOL VISAKHAPATNAM
ASSIGNMENT

nal

April - May 2024 Dimension in Schools

Class: X

Subject: ENGLISH
1.Solve the reading comprehension of Unit -2, Page No-22,23,24 and 25 of your Words and

Expressions book.

2. Here is a letter of inquiry given as a sample. Copy it in your classwork.

You are Anshul/Anshika, a student of class X and resident of 56 D, Ring Road, ITO, New Delhi, and
wants to be a choreographer. Write a letter to the director, National Institute of Choreography, Noida,
seeking information about their course, admission procedure, eligibility criteria and other necessary
details.

House No-56 D

Ring Road

ITO

New Delhi

20 April 20XX

The Director

National Institute of Choreography
Sector 16

Noida

Subject: Inquiry regarding course in Choreography

Dear Sir

Referring to your advertisement regarding the courses in choreography offered by your reputable
institute, I want to state that I am currently in X class and preparing for my final exam. I am very
much interested in dancing and want to take it as a career. I am also given to understand that this
institute is by far the best so far as choreography is concerned and I would very much like to be part
of it.

Kindly send me the prospectus and the application form. I would be highly grateful if you could
provide me with the following information:

e The department and programme faculty

e Funding opportunities

e Scholarships available

e Admission procedure

e Eligibility criteria

e Hostel facilities

Kindly send me the brochure along with the enrolment form at the earliest so that I could register
myself for the course.

Yours sincerely
Anshika.

#Based upon the sample given, answer the following in your assignment notebook.
You intend to join coaching classes at Success Coaching Centre situated in Chennai.
The institute specialises in teaching science to classes XI — XII. Write a letter of enquiry
in 100 — 120 words addressed to the Administrator in — charge of the institute seeking



clarification about the timing, duration, staff, transport and other necessary details for
joining the institute. You are Sonia / Shiv of 2, Murthi Road, Chennai.

3. Attempt the following questions.

Fill in the blank by choosing the correct option to complete the sentence.

i. When the thief entered the house, the inmates __ in the hall.

(a) were slept (b) were sleeping (c )slept (d)had been sleeping

ii. Read the conversation between Harry and Cobbler. Complete the sentence by reporting cobbler’s
reply correctly.

Harry : Can you polish my shoes?

Cobbler : Yes sir. But [ will take 10 rupees for each shoe.

Harry asked the cobbler if he could polish his shoes. The cobbler replied affirmatively but said
that

iii. Select the correct option to fill in the blank for the given line.

You __ work hard if you want to get good marks.

(a) Might (b)can (c)should (d) (a) must

iv. Select the option that identifies the error and supplies the correction for the following line, from
a news report:

Our soldiers are better equipped than that of Pakistan.

Option No. | Error Correction
(a) are is

(b) equipped equip

(c) that those

(d) of at

v. Complete the given sentence, by filling in the blank with the correct option:

Rohit ___ when we arrived at the party.

(a) had already left (b)has already left (b) have already left (d) was
already left

vi. Fill in the blank by using the correct form of the word in the bracket.
The Sushi and the pasta _____ (look) delicious.

vii. Report the dialogue between a doctor and patient, by completing the narration:

Doctor : You should take this medicine every day.

Patient : Should I take it before dinner or after dinner?

Doctor : No, you should take it after breakfast.

The Doctor advised the patient that he should take that medicine every day. The patient further
asked ___ . The doctor replied negatively and then said that he should take it after breakfast.
viii. Identify the error in the given sentence and supply the correction.

The boys were played in the park when it started raining. Use

the given format for your response.

Error Correction

ix. Transform the following direct speech into reported speech:

The principal said, “Why didn’t you attend the flag hoisting ceremony, Anuj ?” x. Fill
in the blank by choosing the correct option, to complete the sentence. The German
force lost no time in retreat lest they ______ be cut off and surrounded.

(a) Would (b)should (c )might (d) could



xi. Select the correct option to complete the narration of the dialogue between Sunita and Neetu.
Sunita : Tomorrow is your birthday, what do you want as a gift?

Neetu : That is a lovely thought but I don’t want anything.
Sunita asked Neetu since the next day was her birthday, what she wanted as a gift. Neetu replied

that that was a lovely thought but ______.

(@) she do not want anything. (b)she did not wanted anything.

(c )she did not want anything. (d)she wants something.

xii. Identify the error in the given sentence and supply the correction.
“Have you got some proof that he committed the crime?”

Use the given format for your response.

Error Correction

Subject: MATHEMATICS
1.Determine the zeros of the polynomial x2 - 5 and verify the relation between the zeros and its

coefficients.
2.Write the polynomial whose zeroes are 5+ V2 and 5 - V2 .
3. If 5x2+ 8x+4 =2x2 +4x +6 , then find the nature of the equation .
4.In a school, the duration of a period in junior section is 40 minutes and senior
section is 1 hour .If the first bell for each section rings at 10.00 a.m.When will the two bells ring
together again.
5.Do the following pair of linear equations have no solution? Justify your answer.

X=2y;y=2x
6. Prove that V11 is an irrational number.
7.The sum of the numerator and the denominator of a fraction is 8 . If 3 is added to both the
numerator and denominator , the fraction becomes 3/4 .Find the fraction.
8. What is the smallest positive integer which should be multiplied with 4"  (where n is a natural
number) so that it ends with the digit zero?
9.8 men and 12 boys can finish a piece of work in 10 days while 6 men and 8 boys can finish it in
14 days. Find the time taken by one man alone and that by one boy alone to finish the work
10. If a and P are the zeroes of the polynomial p(x) = 5x2 — 6x +k , such that a -3 = 1/5, find the
value of k .

11. What is the smallest number which , when divided by 39 , 52 and 91 leaves a remainder of 13
in each case?

12. Assertion: If HCF of 510 and 92 is 2, then the LCM of 510 & 92 is 32460

Reason: as HCF(a,b) x LCM(a,b) =ax b

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of
Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (4) is false but Reason (R) is true.

13. Two rails are represented by the equations x + 2y — 4 = 0 and 2x + 4y — 12 = 0. Represent this
situation geometrically

14. Find the least number that is divisible by all the numbers from 1 to10 (both exclusive).

15. The HCF of two numbers 65 and 104 is 13. If LCM of 65 and 104 is 40x ,find x
16. If a polynomial p(x) is given by p(x) = x2- 5x + 6, then find the value of p(1) + p(4)

17.In the given figure, O is the centre of the circle. If £ AOB = 145°, then find the
value of x.

18. Find the zeroes of the polynomial 4x2 + 4x - 3 and verify the relationship
between zeroes and coefficients of the polynomial.

19. Ifa and B are the zeroes of the polynomial x? +x-2, then find the value offa +§
2-v3
5

20. Prove that is an irrational number ,given that /3 is an irrational number.



Subject: PHYSICS
1. Which one is not used in verifying Ohms law?

(a) Ammeter. b). Resistort. ¢) Voltmeter. d) Galvanometer
2. The slope of V-I. graph of a conductor gives
(a) Current (b) Potential difference
(c) Resistance (d) Resistivity .
3. The SI unit of resistivity is
(@) Ohm- metre. b). Ohm/metre. c) metre/ohm. d). None of these.
4. Assertion(A): The potential difference- current graph is a straight line.

Reason (R): The amount of current passing through the conductor is directly proportional to the
potential difference applied across the conductor at constant temperature.
5. What are the advantages of connecting electrical devices in parallel with the battery instead of
connecting them in series.
6. a) Derive an expression for equivalent resistance in series combination of three resistors Ri Ra.
and Ras.
b) Resistances of 8 ohm, 10ohm, and 5 ohm are connected in series. Calculate the total resistance
of the circuit.
7. a) Three resistors R1 R2 and R3 are connected in parallel. Derive an expression for equivalent
resistance.
b). Four resistors are 5 ohm, 10ohm, 15 ohm and 20 ohm are connected in parallel. Calculate the
equivalent resistance of the circuit.
8. a) Derive relationship between SI unit of electrical energy and commercial unit of electrical
energy.
b). Which use more energy, 100 W bulb in 10 hours or 1500 W AC in 1 hour.

Subject: CHEMISTRY
1. Differentiate Oxidation and Reduction. Identify substance oxidized , substance reduced, oxidizing

and reducing agents in any 4 reactions.

2. What happens when lead nitrate reacts with potassium iodide? Name the precipitate formed and
its colour.In what way double displacement reactions are different from precipitation reactions?
Give examples.

3. Translate the following into balanced informative equations:

i) Nitrogen and hydrogen gases combine to form ammonia in presence of iron catalyst and the
reaction is exothermic.

ii) Sulphur dioxide gas reacts with oxygen to form sulphur trioxide gas in presence of vanadium
pentoxide , reaction is highly exothermic.

iii) Quicklime is added to water to form slaked lime, reaction is exothermic.

4. Give reason why in respiration and photosynthesis equations we write aqueous state for oxygen
and carbon dioxide gases.

5. List out 4 points how you can make out whether a chemical reaction has taken place.

6. Explain electrolysis of water with labeled diagram. How can you test for these gases?

Holiday Homework (To be written in Chemistry lab manual):

Six Experiments of Chemistry Lab Manual from the printed portion are to be written. Diagrams to
be made in the white pages. Writing should be neat without any strike-offs. Date of experiment can
be written later after doing the experiments in the lab. Observation tables can be written in the
single-ruled pages itself. Viva-voce need not be written. To be submitted on the reopening day.

Subject: BIOLOGY
1.Give one similarity and two differences between pepsin and trypsin.

2.What will happen if:

a) Peristaltic movements do not occur all along the oesophagus?

b) Rings of cartilage are not present in the trachea?

3.Why is the rate of breathing in aquatic organisms much faster than in terrestrial organisms?
4.a) Name the reserved food of plant cell and the stored food of animals.



b) In which part of digestive system is water absorbed?
S.Write a flow chart explaining the breakdown of glucose by various pathways.
6.Explain the process of nutrition in Amoeba with the help of neat labelled diagrams.
7.Explain the different types of heterotrophic nutrition with examples.
8.Write the chemical equation and the three events that take place during photosynthesis.

Subject: SOCIAL SCIENCE
1. Mention any three characteristics of black soil. Name three states having black soil and crops

which is mainly grow in it?

. What do you mean by Sustainable Development? Explain.

3. What is Land degradation? What are causes of land degradation and measures are taken to
check?

4. Explain three measures taken by Sri Lankan government according to an Act passed in 1956 and
reason for alienation of Sri Lankan Tamils

. Why Power sharing is desirable? What is the moral and prudential reasons of power sharing?

. Define power sharing. What are different forms of power sharing?

. What was Proto — industrialization? Why did merchants of town go to villages for production?

. Why was Industrial production in India increased during World War I?

9. How did British Industrialist capture Indian markets by advertisement?

10.In what respects is the criterion used by the UNDP for measuring development different from the
one used by the World Bank?

11. Kerala, with lower per capita income, has a better human development ranking than Haryana.
Hence, per capita income is not a useful criterion at all and should not be used to compare states.
Do you agree? Discuss.

12.Why do we use averages? Are there any limitations to their use?
Note- Holiday Homework:

e Project — On Consumer Rights/Social Issue /Sustainable Development (Anyone of above topic to
be done in Social Science Lab. Manual).

Answer to each of the following question to be writter120 words.

How Liberalisation and Globalisation helped India to maintain trade relations with other
countries?

Role of Sardar Vallabhbhai Patel for the Integration of Indian states in the Union of India.

e Assignment and other holiday home works to be written in Long 88 pages note book.

Subject: f&d (ﬁ?ﬂ'ﬂ HTHT)
1. 7 YeiE & Heotr H e Tl a2 wra Hifsre

%) SeTehT Fl ATH|

Q) 3579 fhed! 9rd 391! & T |

3T) 3eThT FETeAT I T ATH|

&) SeTehT fohd TAT TR 3l SaRT FTeIer o7 fem arar 4r?

3.) 3¢ A ford AT @ gl for@a a2

2. 'S13 TS HIGS' hglell YHTC hl hgleil TG oh fohd HTIT & Hehfoldl &2 Tl HITTU | (T JEToh e dTerd H ST § )
3. ‘g3 HIS TS TATST HT fohdT IITAT IR eI T §2 Fa?

4. o7 AUsaT o Ty &7 ford -

5. Ad ARG & e H Al ild a2g Ad fifav -

%) Sl H UG Hcg av |

N

0o N O U

) 9% T |
3T) 3TehT TN T ATH |



6. 'HEAT FATE? TG Gl H TeheehT clleh g2

7. "3 ST oY Gf1T T ST €, T8 SThel 81T ¢ 1" S8 Heetl H ek I hleT TT cleT 82 38 ford |

8. Td R o 'Telcer' &7 FIT HAged TdATAT &7

9. Tl TATAT T AIGIEIUT FHST| (Gr-ar 3GIg N

10. gREX &rar StaT SafFd IfE 39 318 918 g1 df 38T AGG 319 fohd aig T Hohd o7

For May month (Holiday HW) -
1. 720 dAeie &1 el et Fgrfardl @ gt 3oter @RI faf@wl (100-100 ersar #)
2. AT AT & TgHYT AT AT 8?2 TaF 100 Ascl H U TgHAT i el HfFT]

Subject: Sewrd (B(AAD 2 )
D00 80 DS ¢330 HdN23S TR, 3¢S DO T°AHOR
1. DERKN DF 25008 S FOE OB BN IS0’
2. 283765330 ANIE) S8 DR J3 Ack Zadre.
1. 80& D5V (D3NP0 T°OHO&.

95, @3B Q) DE3(HHC TS
O3 23° BB A230NAS Eeachl AN LN FB?

S0 QEN)YT? 300 T ENOHRD YORDTIN0TS? [°
B! 3708563 25700 Q DA 03 )B(X30S D ?
1. (80& (03) @8 2357200 T°ON0EG.
1. 307992775 B0 SETBEOM a3 558 ) DIN00E.
2. T2 E 280N DN OSFTR) 380D DY TPAHo&.
IV. S 0°0H0B.  @I5IDS’ B D8V DSF(50 erFSSR 9O TOAS 0N, ST
D0 A 88 TR D Sa.
Subject: W(@?ﬂ'ﬂ HTHT)
1. 10 9recelfel ferRad | (IRIuRITaRU - gfgecradt 3ar)
2. 6 Rl vcal AFpd Usd drafol ferad |
3.9 U URIedI Yof: fera |
4. B 1D 3oqAchbdd] ferad | (gIfruiaurer)
5. Ueoifota1iul eI 10 USGI: | (Ffgectacdt 3ol - gIfruiaurer)




